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AM~1/PART -1
9 @ g RN/ CHILD pevELOPMENT AND PEDAGOGY
R - Rt sodt & T &3 3 R e o ey gAT1
Direction : Answer the following questions by selecting the most appropriate option.
1. “dre R B ke ¥, wee R 1. "Leaming is process of development'
TR FeT T & ? stated by whom ?
(1) 33-494‘ .(1) Woodworth
) qFA (2) Yokam
(3) R . (3) Simpson
4) o ¥ | _ (4) Dr. Mace
|
2. R g W T # [T geam w@iia 2. At what age gender identity is
g e ? : established in children ?
(1) 2 a% ' (1) 2years
- Q) 49d (2) 4 years
‘ (3) 6a . (3) 6 years
@) 7 ¥ (4) 7 years
3. frmfl e % @R # gy w 3. Assessment of performance done by
OFeee watg O qdaer Rrad R students frequently at the end of unit
rCordea] THHT Tebrienl & g ™ g using criterion-referenced test and
qderor -ﬁ yeele fear omar B, fRm SR employing multiple techniques of
P Yol FHEAT & ? evaluation is known as what type of
, evaluation ?
(1) AT s | (1) Continual of evaluation
) Fradwfees e *(2) Periodicity of evaluation
(3) 9 (1) T (2) & (3) Above (1) & (2) both
(@) IR (1)@ (2) 3T T

(4) Neither (1) nor (2) above

Level-1/4101
0_ P.T.O.
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[D]

4. “Rren A, qﬁ\ﬁmaﬁaﬂw%r

[4]

N R o Gy § gEa g T
o fem mar ®

(1) gsad &
(2) RF T
(3) RuEs g
ORERICEAL

e afrm Rl o) o sRioee

$ We Ru Tu ¥ fm Hiftn 5 R

WS # N o 78 § 7

(1) TG /T e -

7% i U

(2) HTERe-ger & Riaw -
TR T Peaw

(3) TET-Irgfher T -

(4) gee ReT - & W@ R

ug faEml 3 AR &9 & vl Rl
Reg & 100 & & 47 &% 99 Ry
st g Glodiodo AT B IElT Rea
¥z § Faa o @1 ¢ 7

(1) B2

2) C

3) C

(4) B

Level-1/4101

4.

"Educational Psychology is that branch
of psychology which deals with
teaching and learning." This statement
is given by :

(1) Woodworth

-(2) Skinner

(3) Simpson

(4) Pavlov

5. Below are given the pairs of theories of

learning and their exponents. Indicate
which pair is nof correctly lpatched ?
~(1) Conditioning Responses -
Wolf and Reid
(2) Insight Theory - b
Wortheimar and Kohlar
(3) Stimulus-Response Theory - ‘
Thorndike; Gates, Stephen
(4) Reinforcement Theory - Huil and
Skinner

6. A student got 47 marks out of 100 in a

subject under scholastic area, this score

will convert in which grade under
C.C.E. scheme ?

(1) B,
2) C
3 G

,/(4) B 1
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(5] [D]
7. aEER ® ER B § @ SN-d 7. According to Vygotsky, which of the
Gohod T §iEq 3 [w hg =t © ? following concepts appear central to
Jearning ?
(1) | | - (1) proximity
(2) TR (2) adaptation
(3) AHEEH 3) assimilation
(4) Gl o W A4) culture and language
8. 3 dy & Iy F S @ R 9= | 8. At the age of 3 years how many words
g dar ® 7 learn by a child ?
(1) 200 | . (1) Approx 200
2) EI‘T‘%‘T3OO (2) Approx 300
(3) WTHIS500 3 " -(3) Approx 500
(4) STFT1000 @ ApproxlOOO.
9. fEwifern @=ift 3 :- .9- Dyslexia is associated with :
(1) TR fR & (1) Mental disorder
2 7o R & ' *(2) Reading disorder
(3) TR T @ | ~ (3) Behavioural disorder
(4) TR femprT & : (4) Mathematical disorder
0. fPrfefed & &  dE-Ar ST 10. Out of following which tool is not
GLEHD  SThTT % foq g srefter Seems to be appropriate for formative
7 aae? assessment ?
(1) ggAad - (1) Quizzes
(2) W oferel (2) Group discussion
(3) ARG SRR ") Criterion referenced test
@) Fratard (4) Conversation

. 0.
Level-1/4101 P.T
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[D] | (6]

4 s at g & g § A 11, Due to which development at the age of
maﬁﬁﬁﬁa‘smﬁﬁ%@ 4 to 5 years male child shows
W R Rt st sty @ & 2 affectionate behaviour towards his

mother and opposite to his father ?

M RRE[ i | (1) Pituitary gland
) S sy | (2) Thyroid gland
G) i by " (3) Electra complex
(4) ATy iy

-(4) Oedipus complex

12, U AR S R o s
Nﬁ%wwﬁ‘éﬁﬁﬁmm%,w

12. When the development of the same.
subject is studied over a period of time,

the study is called :
(1) Sie FamT oveaes

(1) Life history study
(2) |3 s

(2) Survey study

(3) APRI-FE T () Cross-sectional study

4) oTgied st +(4) Longitudina] study
13. Prfifeg & q - SRRUGET R, 13. Which is not the element of creativity ?
T 78 & ? : ,
(1) T s (1) Fluency
(2) g (2) Flexibility
(3) Afrepar ‘ (3) Originality
(4) ST

- (4) Memorisings
Level-1/4101

.
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[7] [D]
14. Friofed & ¥ a9-T R aor S 14. Out of following which is not the type
T WoA STIROMHS FIER H YH of imitative behaviour given by Miller
7 87 and Dollard ?
(1) 9 FaER (1) Same behaviour
(2) TETEYTh e (2) Correlative behaviour
(3) Uiy R (3) Copying behaviour
(4) gRf-afa erger) .(4) Matched dependent behaviour
15. Fridfes & & d9-a@  a=is 15.‘ Out of following which is nmot the
AR F7 FTBTT TET R ? example of Intrinsic motivation ?
(1) wefam | (1) Praise
(2) Forem (2) Anxiety
(3) SR i SR «3) Need for achievement
(4) SATHET- & ! (4) Level of aspiration
16. [P ‘ATifEs oy e ﬁ GERIR S 16.  Who introduces "Mental Age' word very
AR e ? first 7
(1) shs B -(1) Alfred Binet
() T ) Thurston
(3) dierEs () Thorndike
(4) e 4) Guilford |
17. :;‘ :Wm@m;m ferepr :cﬁt PIH-Tr a;aw 17. According to Ross which stage of
T Hel T development s known as 'Pseudo
Maturity stage ?
(1) ST " (1) Infancy
(2) SEEET @) Childhood
(3) Pt ‘() Adolescence
(4) TR /ST ) Adulthoog
Level-1/4101 P.T.O.
e —— .
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18. F-a1 AR Ryanall @ I & ' 18. Which is not the cause of individual
g7 differences ?
(1) dah (1) Heredity
(2) amET - (2) Environment
(3) uiueRT (3) Maturity
OREEE .(4) Guidance
19. Rl 5= ¥ weomdew fela &0 & 19. To develop creativity in a child, the
fRTQ T i 787 H e | teacher should not : -
(1) ¥=a i Frmet o ukeie He (1) restrict the activities of the child. "¢
2) 7= & RERl & T FT) (2) respect the views of the child.
@) T H I fEE B oagE | (3) satisfy the anxieties of the child.
CIGIN :
@) = B o RRE B R ¥ Q - (4) lead the child to novel thinking.
ST |
20. fr=ifafaa § 9 dF-0 e @ aww & 20

- Out of following which is not correct

ot 7 w9 7@ %7 principle in context to growth and
St development ?
1) RWIw i A1) Foot to head
2) Fepe & (2) From near to distant
@) WAW (3) Head to foot
(4) dsmgsEA T aRIEReT ) afafhar (4) Interaction  of heredity &
environment
21. o gf s & wacs @iF & ? 21. Who was the propounder of
multidimensional intelligence theory ?
(1) e fa «(1) Alfred Binet
2) fress (2) Guilford
(3) B T 3) Howard Gardner
() Ao (4) Thorndike
Level-1/4101
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23.

24.

(1) 5 o
(2) T Sreeem
(3) T TR
(4) ot (o) sreree

Th IO A AT G S d A

(A T WG T A ) e o

d TRY § D P FE B FE HA A
aramd 8 & R YR @ S ded
g7 '

(1) wHiYs ¥ § Aied awb
2) s =T T Rwer
(3) e/ -

4). 58

wF RErl T T a5 ate § e
Y o7 v @ 99 g e o
Rrit @7 oRER qe fe A 30
Wﬁeﬁm‘ﬂmﬁ%t |

(1) HETeTs e
@) s de
(3) wErRIe e
(4) TGS W

Level-1/4101

| 9]
22, mmhﬁ@ﬁ%ﬁﬁﬁzﬁmaﬁ@ _
e, it # ® P9-d 8 ¥

22.

23.

24,

[D]

- Which of the following is not a stage of

‘ psycho-séxual development as given by
Freud ?

(1) Oral stage

(2) Analstage

}(3) Latency stage

+ (4) Iconic stage‘

A child "who is in the middle of his
school (that is about ten and half years)
is unable to do the work of the class
below that which is normal for his age" |

is known as which type of children ?
(1) Mentally retarded

(2) Educationally retarded -

(3) Moron

(4) Idiot

A student is tried to new knowledge in
Such a way that he/she is tried to
-modified and elaborate concepts and
Principles already leamnt. This type of
learning is known as what ?- |
(1) Combinational learning

(@) Subordinate learning

-(3) Superordinate learning

(4) Correlative learning

p.T.0-
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25. ‘SUET WHr &Ry ﬁ?ﬂ%’ graTad Gil 25. 'Gender Schema Thedry' was proposed

o ? | by whom 2.
(1) o g - +(1) Albert Bandura
(2) A Rt - ~2)- Jean Piaget
(3) THo o 7 (3) S.L.Bem |
| (4) 9o Wo A : (4) R.A.Baron

26. fr=ffed & & Siv-m sRne awet 26. Out of following which id not the
& fo wgfs wdfem 7 ¥ 7 enrichment

| ‘ _ children ?
| .
| (1) wewr § i

() T IR
(3) Tl @er @7 ey

@) fafre o g

programme for Gifted

@ Enric.hment‘of curriculum
.(2) Grade acceleration
(3) Arrangement of special classes

(4) Special residential school

27. In some of the cases children shows less

27. 3B N A T oW R @y

e ﬁ BB FH HHRS GrgE e & mental ability as compared to their
TS ST g o @R ggq g, parents and vise-versa, this rule of
AMGH N T8 Frm AT & 7 heredity is known as what ?

(1) HeErT Frm ~(1) Law of Regression

(2) g~ Tﬁ & ' (2) Law of selective traits
(3) 79 g g v&lt & frgy ' (3) Law of maternal and paternal lines
(4) €3 F fram (4) Law of chance

|__evel-1l41 01
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28. RPN TEER F Y TIE I pg. What is the age group of carly

BT R 7 childhood ?
(1) 07 27 (1) 0to2 years
2) 28 479 (2) 2to 4 years
() 28 6@ - ~(3) 210 6 years
4) 49 7ad - 4) 4to 7 years

20. UUGHS TN T & SIYER TR AR 29. According to AAMD and APA what is

e g A w1 e T A the 1. Q. range of severe mental
Bar g ? | - | retardation children ?

1) 52867 | | (1) 52t0 67

(2) 367 51 | . 42) 3610 51

3) 20835 | (3) 20 to 35

(4) 208 T (4) below 20

30. ‘o s F LT AT RE @
qeq Afed BEE @ Be-a e |

30, . . . ..
Ego Centricness' is main characteristic

of which intellectual stage as given by
?
R gsar # Jean Piaget ?

(1) GXTAF e e

(1) Sensory motor stage

(2) [ dipar sTaer

“(2) Pre-operational stage

(3) Tt wHACTD ST B) Concrete operational stage
4) ‘ﬁma”f; TifepaTeTs STl Q‘Woperaﬁonal stage j
Level-1/4101 y p.T.O-
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-1/ PART - 1I
A (R wd aiieh)/ LANGUAGES (HINDI & ENGLISH)
[R=/HINDI |

R - Pty et 3 e 32 & fog 7R 9T AT g

3. 9§ § IR’ o Rem R
(1) oy
(2) o
(3) erdrey

(4) Uy

32. ﬁqﬁaﬁq—mmra:ma%

TE ¥
(1) s
(2) o
(3)
. (4) e
33. f:f;;?@f R
(1) @
2 g
@3)
A4) 9

Level-1/4101

34. STHTA foeheq Famsy :
(1) ¥ + Rus = s
(2 B+ 9% = fau|

3) g + Rear = g
(@) F: + & = Froo

-35. ‘a@iﬁﬂﬁ:wx 1 S T&F 2 ’
) TR . A2) S

(3) FHuwdgEEs  (4) e

36. =1 § 4 PBrm 9oaEs G 9=
ffiifa saferer=es O 9 g R ?

(1) g (2) ST

(3) (@ B

7. B = A W Iwl W o
BT B 7

(1) W A2) g

G) TR @) T
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38.

39.

40.

41.

arite 3fe & iy faeea g
(1) aFRF (2) wfrToT
Q) Wit (4) e

iy &l gie ¥ o ge

(1) @ + 397 = @AW

2) B + SPER = =P[R

(3) T + Tl = qAHa

(4) =g + ¥ = oicTH

EE T B onl-HgE @ ghe §
D=1 fhed T 7T ¢ ¢

(1) ® - R, F, T

2) WEd - T& ® T, T A S
& M, faEd A

(3)%—%,%,@‘?(3%%‘

W § g
(4)@“ - %-{:WJ%

e e 3

(1) S P9 FA a1 & - A
@) 3 e E R T @ - I

3) o frl ox SRR T - S

(4) ast F1 Rwga T & - Ighe

Level-

1/4101

[13) [D]

rrg R B Y SR T g
37

(1) STATE (2) S

. (3) STTED (4) g

42.

a3, B O TRy = w1 we R a=
N
(1) oficreA
. (2) ST
(3) onferd™
(4) iy

44, 1 ¥ § waares 98Iy ¢
(1) ==
(2) fifras
®3) frarEh
(4) s

. T st & o ol @ R @

4T Hife

(1) stfere-arerry - Ry e, e
) FR-sR - ¥, AR

\G) - - aperd, Rem A

pP.T.O.

e QN

Scanned by CamScanner



S P U —

o e o e s ety

[D]

[ 3357 / ENGLISH ]

Direction : Answer the following questions byz selecting the most appropriate option.

46. Choose one word for the given

sentence.

One who believe in the existence of

God.

(1) Atheist
(2) Ascetic
_}3) Theist

(4) Egotist

47. 1 expect that [ shall get a prize,

The underlined words are :
('1) Noun clause
,(2) Adjective clause
-/Q) Adverb clause

(4) None of the above

Level-1/4101

48. Which of the word is correctly spglt ?
(1) Guaranty
(2) Guarantee
_b) Gurantee

(4) Gurrantee

49, They decided to cooperate.
The underlined words are used as a :
(1) Vesb
.(2) Gerund
/3) Infinitive
4 Adje(;tive ";-

ief
50. Choose the appropriate option in the

blank.

The Collector and Director

coming in the building.

Wi

.(2) are

(3) have been

/Tv) has

Scanned by CamScanner
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51. Choose the most appropriate modal for

the blank.

+eseeeren yOUu like a cup of coffee ?
(1) Can
" e(2) ‘Would |
(3) Must
(4) Will not
52. Change into passive Yoice.
Everybody laughed at Robhit.

(1) Everybody was laughed at by

Rohit.
(2) Rohit was laughed at by everybody.
~(3) Rohit had laughed by everybody.

PR Rohit was laughed by everybody.

Level-1/4101

[D]
53. Choose the most  appropriate
preposition.
There was a footpath that went .........
the road till the railway station.
(1) Over
"A2) Along
(3) Around
(4) Across
54. Choose the correct one.
I was tired because I ....... for a long

time.

<%1) was working

(2) have been workiﬂg
.(3) had been working

(4) am Working

55, Fill g
Fill in the blank by choosing the correct
Option,

......... work to do.
A some
) any
@) something
4) few
P.T.O-
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56.

57.

Choose the most appropriate form of

Indirect speech for the given sentence.
He said, "Her sister will ‘arrive from
Mumbai today."

(1) He said that her sister will arrived

from Mumbai that day.

" (2) He said that her sister will be

arrived from Mumbai today.

(3) He said that her sister would arrive

from Mumbai that day.

(4) He said that her sister would

arrived from Mumbai that day.

Choose the correct antonym.
Abandon

A1) Quit

(2) Resign

(3) Surrender

A% Acquire

[16]

58. Choose the most  appropriate

preposition.

Hedied ............ Cancer.

(1) by
.(2) from
(3) of
(4) at
59. Amusement is a noun with "men_t" as a
suffix, which of the following option

‘will become a noun if we add the suffix

"ment" to it ?
(1) Correct
«(2) Entertain
(3) Colour

(4) Extort

60. They had to cancel the match as the

ground was too wet to play on.

Replace the underlined word with an

appropriate phrasal verb :
~(1) call off
(2) call out
(3) callup

(4) callin

Level-1/4101
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Direction : Answer the following questions by selecting the most appropriate option.

[17)

W=/ PART - Il
I ST/ GENERAL STUDIES

ST / QUANTITATIVE

APTITUDE, REASONING ABILITY AND GK & AWARENESS ]
FRr : Rttt 797t % e 37 @ e @ae afe Ray gavl

61.

63.

A ¥ qlen § 175 of wa B

AT T 35 3fF [ ol & m AR
qlenm & IO 89 & R 35% o @

AT B, T Il S B
(1) 650
(2) 700
(3) 750

(4) 600

15 =R 3w W A, 7 R T
%, 8 ol wed ¥ oI 3 E ¥ B A
AT T8 ed &1 frm et R ol
B A R 7

(1) 0
3) 4

) 3
4 5
TH J6Y @l SR 3 @A 8T, Th A

aell, “gwpl A, A AR B I G

8" Hieen IW o0 @ R SR eEed
77

(1) =i

@ @

(3) &

(4)

" Level-1/4101

61.

62.

63.

Amit scored 175 marks in a test and
failed by 35 marks. If the passing
percentage of the test is 35%, what are
-the maximum marks of the test ?

(1) 650
2) 700
3) 750

—(4) 600

In a group of 15 people, 7 read Hindi, 8
read English and 3 read none of these

languages. How many people read

Hindi and English both ?
) 0 @3
)4 ) 5

Pointing 10 3 man, a woman said, "His
mother is the only dau

ghter of my
mother",

bomr ?HOW i$ the woman related to
~1) Mother

() Granci Mother

(3) Sister

4) Daughter

P.T.O.

Scanned by CamScanner

~ . D



i

|

| 64. TR w Rum se-ofeet & G, TR
l Rer SR @ o AR F T T
| R o & o @ a @ W@
\ e R - R @ wEd 7

(1) =feer
2) TR-TE
O]
(4) cfRror-aftem
€ =R fh Rt & ot ¥ 200% & gRs
FT A T qA IS & T 350% A ghs
A, A S/12 T AW ¥ A
X Pt o
(1) 59 (2) 5/8
3) 7/12 4) 11712

66. Rrfl WAk 9 ¥ BEAT & yppe
el S, T 'CALM' 3 'NMBD ot
T @ T AT X SORE' F gy ey
ST ? :

(1). FSPT
(2) DQNR
(3) FQPR
(4) DSNT

67. [T <aem & g ¢ .
DG, HK, LO, PS, 2
(1) QT () sv
(3) UX 4) TW

Level-1/4101

(18]

64. If East direction changes their position
to North-West, West direction changes
to South-East. All directions change
their positions in same manner. North

will be changed to :
(1) South
(2) North-East
(3) East

< (4) South-West

65. If the numerator of the fraction is
increased by 200% and defominator is
increased by 35 0%, then new fraction i
5/12, what was the original fraction ?

(1) 59 . (2) 5/8
(3) 7/12 C @) 1112

66. In a code languag:e 'BEAT' is written as
'UBFC' and 'CALM' is written as
'NMBD'. How is 'SORE' written in
same language ?

~(1) FSPT
(2) DONR
3) FQPR
(4) DSNT

67. Complete the following series :
DG, HK, LO, PS, 2
(1) QT ) sv
(3) UX ~4) TW
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68. TH FW 690 fhilo i gl 30 av¢ & g 68. A car covers a dxs@ce of 690 kms in
A B | AN ST ol = R enl ? 30 hours. What will be the average
speed of the car ?
(1) 21 o Ho Ho (1) 21 kmph
(2) 25 fFHio Yo Ho (2) 25 kmph
(4) 20 Rio wo Ho (4) 20 kmph
@ 5 ST T el FA: A, B, C, D 69. The average of 5 consecutive Even
T E & l|d 74 #1799 dE@w C au numbers A, B, C, D and E respectively is
HeAT E 1 O 8 f 74. Then what is the product of C and E ?
(2) 5616 | ) 5616
() 5528 (3) 5928
AD 3772 (4) 5772

70. UF e quT SES T S SN o7y 40 70.
qf ¥ 1 FH Y B AU HAW 113 5
R W G @ g A AT

(1) 25 ¢ e, v

The average age of a man and his son is
40 years. The ratio of their agesis11:5
Tespectively. What is the son's age ?

<

g A1) 25 years

@) 20 @) 20 years

(3) 28 7 () 28 vyears

(4) 14 3o @ 14 yeore
i ag’ﬁggj? R i Hlow Many times both needles of a
e | :?l:l; ;“ 1o Overlapping each other in

(1) 22 - AD) 2 (i,

(2) 24 IX - () 24 times

(3) 12 91 3) 12 fimes

) 1R @ 1 times
Level-1/4101 o

——eeeeee,,
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72. g% g= "FRIEND" & 5% ‘ﬂmﬁg
<o aof 350 gere T G
Sl & o aferia @

(1) 4
) 3
3) 1
4) 2

73. ©F FvON ¥ @@ RA & R 56 Remo
AW H STETADD ekl 8, o OBk
T A ¥ W e B R e
%l EHT B 7

(1) 488 Mo
(3) 498 frMo

(2) 476 f&o0
4) 490 R0 -

74. TF TER B S N FQ g e
a%r,asﬁ%mm%mﬁgqaﬁm

%tﬁfwwwmﬁmﬁ
6 s Tafeg ¥ )

(1) Ak
) g &
(3) &
(4) A

75. an%ﬂi@w%w%m%%q
@A
20, 21, 25, 34, 50, 9

(1) 60 ) 70,

(3) 75 4) 100

Level-1/4101

[20)

72. If each letter of the word "FRIEND" is
arranged by their order in English
alphabet. How many letters will not

change their position ?
(1) 4
) 3
~(3) 1
4 2

73. A ‘Canteen requires 56 Kgs rice for
seven days. How many Kgs of rice will

it require for the month of April and

74. Pointing towards a photograph Vishal

', says, she is the sister of my grand-
father's only son. How the woman in the
photograph is related to Vishal ?

@) Ma&erﬁal Aunty
_(2) Paternal Aunty
(3) Sister
(4) Mother

May together ?
A1) 488 Kgs. (2) 476 Kgs.
(3) 498 Kgs. (4) 490 Kgs.

75. Complete the given series by their
pattern :

20, 21, 25, 34, 50, o
(1) 60

B) 75

() 70
4) 100

e ——
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76. U% =R 8,000 59 15% a1 ax @ 3
™ 3 R ogew ¥ Y el e
SR =T S @ ?

(1) 4,000%0
(2) 3,600 B0
(3) 2,400%0

(4) 3,200 %o
7. A 19683=2x3 w " @ m
BT
1) 27
@) 3
3) 81
4) .9

78. UF A H TEE IO AR @ &
TN R AR o w1 A 147
diex 8, & s URE 1 a ;
(1) 56 @) 28F0

(3) 480 (4) 4970

79. ¥ W ax Rpedt & § &9 f5dl v
§ GAF ¢ 991 o9 UF §YF a9 &1
98 TF faq PiF-ar & S g9 o8 A
78 T 7 '

(1) far
(2) fer
(3) amafer
.(4) drgh

Level-1/4101

[D]

76. A man borrows Rs. 8,000 at the rate of
- 15% per year for 3 years. How much

simple interest-will be paid by him ?
(1) Rs. 4,000

~(2) Rs.3,600

" (3) Rs. 2,400

(4) Rs. 3,200

77. If 319683 =2 x3, then value of "o"
is :

~(1) 27
@) 3
3) 81
4 9
78. "l'he length of 2 rectangle is 3 times of
L ::lts. br,ea@th. If the area of rectangle is
147 2 > then'find jts perimeter :
1) 56m (2) 28 m
() 48 4) 499
79. ?tz;:iithe following four are alike in
Whics on‘:razlro and so form g group
Soup S not belong to that
(1) Sitar
@) Guitay
(3) Violin
—4) Flyge

P.T-o'
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80. NEW & o THY Pag ¥ 3 T TG
o ¥ fpge 2w ?
(1) &aH @) e
(3) W@ (4) erierar

@ afe 7 Frafefeg § @ B R d
| 7&f T&c B 7
() e @
3) =R '@{Nﬂﬂ
g2, TAT ¥ gud -G FEr B
g7
(1) =l e
(2) A S
(3) @ Sit= e
_(4) T A o

63 sfre o TR SEEE dERE o

e @ (2) 8
(3) W E (4) TR &

84. FEMYX AL T F A 5 s
et T frar e cac

(2) 3@ af 1991 & U N & &7
% Aa foRar T ar)

®) g@mmm%mm
I

I & q BE-E/AE-Y e
87

(1) 39 (2) &4 Bl

2) @9 (b) T B

@3) 7 (a) 3T & (b) 7y 3
L (@) (a) 9 (b) T w3 ¥

Level-1/41 01

[22]

e

80.

81.

82.

83.

(1) Ambala

84.

Coconut is related with shield in the
same way, letter is related with :

2) Envelope

(1) Pen

(3) Writing (4) Postman

The Sahibi river does not flow in which
of the following district ?

(1) Rohtak (2) Rewari

(3) Jhajjar (4) Gurugram

Who was the first Non-Congress Chief
Minister of Haryana ?

(1) Chaudhary Devilal

(2) Chaudhary Bansilal

(3) Rao Birendra Singh

(4) Bhagawat Dayal Sharma

The famous Gazal Singer Zohrabai was
related to :

(2) Sonipat

(3) Rewari (4) Yamunanagar

Consider the following statements about
Sultanpur National Park :

(a) It was upgraded to National Park in
the year 1991.

(b) Itis famous for its migratory birds. '

Which of the above statement/statements
is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.
(4) Both (a) and (b) are trye,
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&85 I W & & Rewty Tenh HRe -
ST T R 7
(1) Heea
() oI &
©(3) S &
) e |
86. ?%{]E;{' N
(1) i
@) @i
(3) AT
(4 wEE
87. gufoa v :
A dE Rl @ ()
AP ;
B. T R (i) BER
C zﬂﬂ%q e # (i) I
Hepel .
.D. e we  (iv) FEETR
A B ~C D
) GG H @
@ (v G @ 3
@ @ G G )
L@ Gv) G G Q)
Level-1/4101

(23

[D]

85. Where the T1rupat1 Balaji Temple has

86.

87.

* recently been built ?

(1) Kurukshetra

(2) Gurugram

(3) Ambala

(4) Panchkula

Where the Nahar Wildlife Sanctuary is
situated ?

1) Ambala

(2) Sompat

(3) Yamunanagar

(4) Rewari
Match the following :
Monument Place
A. Tomb, of (i) Thanesar
Sheikh Chilli

‘:B_ Gu_|ar1 Mahal (i) Hisar

C.
Tomb of (iii) Pa.'mpa't
: Ibrahlm Lodi

D
E Sheesh Mahal (iv) Farrukhnagar °

C
hoose the correct code :

A B C »
RO N ) @) Gy |
2 (v) i) @ @) -
®3) ) () (i) (i)
) (iv) (i) (i) )

p.T.0.
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88. =R TRy JEd @ Qﬁzﬂ% : 88. The Magazine of Haryana Sahitya

~ . Academy is :

\ (1) wRow *(1) Harigandha

\

E‘; @) =RET daE | (2) Haryana Samvad

g (3) BRAm € B (3) Haryana Sandesh

it ‘ '

| ORECER - ~ @ Panchajanya

89. RWAR o el orefeg & 7 | 89, Where the ;l“ilyar lake is situated ?
'. (1) e = | | (i) Gurugram
| (2) Usas . : ~(2) Rohtak
(3) g _ . 3) jind

(4) BlEEr (4) Faridabad
90. afamm Eﬁ( RRGE] ﬁT‘aFf' T 3 ey 90. Who was the speaker of the 13th
f B & ? H@ma Assembly ? - |
§ (1) &9 g©g | (1) Santosh Yadav
i‘ (2) %A T .(2) Kanwar Pal
! (3) 3199 f¥z (3) Abhay Singh
| (4) THo To TR NG ___’_M-L.Khanar\_
! Level-1/4101
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[D]

AT - IV/PART - IV
O™ / MATHEMATICS

[&%r : fafifye g & w7 @7 @ T G99 3T Peey

Direction : Answer the following questions by selecting th

&) 1,60000 Fo T 2 A ¥ 10% aAlEH o1.
W o DG W e @ R
e ‘ '

(1) 348460  (2) 34481 Fo

(3) 19,448 %0  (4) 37,946 Fo
S ) -

92. UF PSR e H qSel F Sgud 92,

3:5:7% AR swe W9 300 MR, @
TP TG BT

(1) 150 tﬁz
(2) 9003 o
—(3) 150043 o

/ .
propriate option.

Find CI paid when a sum of -
Rs. 1,60,000 is invested for 2 years at
10% per annum compounded half

 yearly :

(1) Rs. 34,846, (2) Rs.34,481

* (3) Rs. 19,448 (4) Rs.37,946

The sides of a triangular plot are in the

ratio of 3 : 5 : 7 and its perimeter is

300 m, find its area :
(1) 150 m2
() 90043 m2

(3) 15004/3 m2

2
@ 1500 | , (4) 1500 m2 |
TF Hd & [T SFE/SPACE FOR ROUGH woRrk
Level-1/4101
P.T.O.
A »
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(D] !
@ﬁ"ﬁ P(x;, ) A O(x2» ») % 9 @ 93. The distance between P(x,, y,) and
ol e R Axz, y2)is:
) \/(xz —x)? + (O ) _ jO) \/(xz -x)% + (r2 -3
@ o+ -2+ 0 L@ w2 -0a )
3) \/(xz =) +(n -}’152 (3)» \/ixz ~y2)? # (- yi )72
@ N@-u+otn? @) -1+ (1 + 32
94. T Th ik & 1/597 A0 U ¥ 1 AR 94. Ram reads 1/5th of a book. If 60 pages
- ST 60 IR T @ 9y g J&i are still left to read, then how many
§ e for e ¥ 7 ' pages are there in the book ? . &
) 75 | 1) 75
() 90 @) 90
(), 105 - (3) 105
(4) 120 @) 120
— ] ]

T %% % Ryq or/sPACE FOR ROUGH WORK
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o5, 128352 T T i formof 128352 .
238368 o 95, The simp 238368
(1) 3/4 (1) 34
(2) 513 (2) 5/13
~(3) 713 (3) 713
(4) 913 @) 3
F 2-;—+3%+x+2%=13%, @ % #: | g i%+3-i—+x+2§1-=131—52-, find the
o4 B : value of 'x':
(1) 5% (1) 5%
) 3% | @) 3%
3) 2% | 3) 2%
~@ 52 @ 52

% & § RIT SFE/SPACE FOR ROUGH WORK

FOR ROUGH WORK /X% &1 & fayg

L
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(. o v & R o 7w 4 ¥l x 2.5 880
x 1.5 0 & W 12 RS & & e
P ATETH FT BN ?

(1) 180 &
) 140 ¥
(3) 120 ¥
4) 100 A
98. I T & vOF Y B wE T 15%

# afs W A Y, A g e

fRa wfte afs B 7

(1) 15%

) 22.5%

(3) 56.25% o

4) 32.25%

[28]

97 A matchbox measures 4cm x 2.5cmx

98.

() 22.5%

1.5 cm, what will be the volume of a

packet containing 12 such boxes ?
(1) 180 cm’
2) 140 cm’
(3) 120 cm’

@) 100 cm’

If the length of each side of a square is
increased by 15%, then the increase
percent in its area is :

1) 15%

(3) 56.25%

(4) 32.25%

T 38 & [T SF8/SPACE FOR ROUGH WORK

‘Level-1/4101
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9. IR A MM AN a g 1:3 3 9. Shanti divided 40 stamp.s between

AR # 40 @ Rpe &) 1 @ Roma and Teena in the ratio of 1 : 3,

o = Reae Ry 2 How many stamps did Teena get ?

(1) 10 (1) 10

() 30 @) 30

3) 20 @) 20

) 25 4) 25

1oo.qzsaawm%emnaﬁqﬁm132 100

@tﬁ%eﬂwamﬁr:%aﬁzsm%,ﬁr
I R et e o w2

. The circumference of the base of a
cylindrical vessel is 132 cm and its

height is 25 cm, how many liters of
water can it hold ?

(1) 33.64 diex

(1) 33.64 liters
2) 34.65 diex (2) 34.65 liters
(3) 69.34 dex (3) 69.34 liters
(4) 22.35 dfrex (4) 22.35 liters

| % %4 % R FTE/SPACE FOR ROUGH WORK N
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101, & WgF POt woomEa 2 : 3%, @
IO 1 AY B

(1) 30° 45°
(2) 36°, 54°
L3 72°,108°
(4) 66°,114°

102. IR A T A F AU 27 : 64
R, & o wyd gLm dew W

101. The ratio of supplementary angle is

2 : 3, then find the angle :
(1) 30°, 45°
(2) 36° 54°
(3) 72°, 108°

4) 66°,114°

102. The ratio of the volume of two cubes is

27 : 64, then find the ratio of their total

ST 1T surface area :
A 27:64 1) 27:64

2) 3:4 ) 3:4

3) 9:16 3) 9:16 i
4) 3:8 4 3:8

TF 51 % RIT S6/SPACE FOR ROUGH WORK
Ne
T,
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103. i &, ;:SSEFT MRy 103, If_;.c__—_-%-, then the value of -;—% is
& ? equal t0
(M % O] ';;{
® 3 @2
) -Z— 3) -;l
@ 3 @ 3
104. g ¥ eﬁrﬂ 6 & ¥ B @ 104, How many squares of cach side 2 cm
Foe @ e W 2 T g A e can be drawn on a paper sheet of the
il 9 S T § ? 1eng1h8cmandthebreadth6 cm ?
(1) 24 (1) 24
@) 18 @ 18
,(39 12 wB) 12
(48 . @3

"% @ @ R HIE/SPACE FOR ROUGH WORK
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105. ‘
5 :TEBAE? o4 B @ I q 20% FH -@Pf: 105. If the income of A is 20% less than
. ?GHT?I 4 & g @ e dfaea income of B, then how much income of
' B is more than income of A ?
(1) 20% (1) 20%
(3) 30% - (3) 30%
@) 35% 4) 35%
195- 11 S & g 60 2 afs wHE 6 106. The average of 11. observations is 60 -
St <1 ST 59 B o S 6 'S’IET”ﬁ If the average of first six observations
P e 62 &, ar B3 SE &7 ARS is 59 and that of last six observations is
62, then the value of sixth observation, is :
d ;‘ , (1) 63 (1) 63
i (2) 64 @) 64
{ - )66 el . A3) 66
(4) 68 (4) 68

<% 1 & RIC SFTE/SPACE FOR ROUGH WORK
p Pt

Scanned by CamScanner



[33) [D]
107. A T Femat # W 66 ¥ ik I 107. The difference between two whole
IFUE 5:2 7, & A& q dEn ¥ ‘ qumbers is 66. The ratio of the two numbers
is 5+ 2, what are the two numbers ?
(1) 110:34 (1) 110:34
(2) 34:100 @ 34:100
(3) 110:44 () 110:44
(4) 100:34 (4) 100:34
108. [0.01+~/0.0064 T 7 BT : 108. @.014,\/6;50’52 is equal 1o :
1) 0.03 (1) 0.03
—~(2) 03 ‘ | (2) 03
(3) 0342 @ 0342
@3 . @ 3

% Fd 3 BT SFE/SPACE FOR ROUGH WORK
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| 109. 370 3,8,13,18,........ # HiF-a1 T 78 109. Which term of the series 3, 8, 13, 1g
7 e L s is 78 ?
(1) 18 ' (1) 18
@) 76 @ 76 .
316 3) 16
@ 74 4) 74
B 1 1 .
. : . f—1s:
110 ) A B 110. The value 0 % is
| 1) 2 @) 2 A1) V2 2 2
| V2 2 | 2y 2
3 = @ 5 3 = & 7
’ 111. & €@&N 3 : 4%6@13?-?%?@3?@ 111. The ratio of two numbers are 3 : 4 and
t AT agad 84 ', FH § W@ wew their L.C.M. is 84, then which number
\ -l B 7 is greater number of the following ?
| l M 21 @) 24 (1) 21 ) 24
i 3) 28 (4) 84 (3) 28 @) 84

% F1 3 T TE/SPACE FOR ROUGH WORK

8N e mem - . - . o= =0 L7 1w 21 ¥

[
x
|
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112. ©F THEEHS 3 AARE IO F: a4 412, The sum of interior angle of a regular
1440° ¥, gEmen F HEA oW ® 2 Solygon s | 440°, then the number of
sides is :
(1 8 (1) 8
@) 10 @) 10
312 (3) 12
4) 6 @) 6
3. @29%2x@29> _, 113. (225)0‘2X(225)ZZ =9
(225)%8 x (225)%2 (225)%% x(225)
(1) 15 M 15
@) 15 @) 1.5
. 1
ROE ® 15
L © 33 :

6 F8 & 9T SFIE/SPACE FOR ROUGH WORK
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15aﬁﬁtﬁiﬁraﬂaﬁﬂﬁﬁﬂﬁ4ﬂm
A, & TR A A I E D

114.

1) 15

@ s

3) 10a¥

@) 4T

115. 11 & T §9 $NC IR A HAR

Hemal (11 o Tem) & 4 3638 ¢
—(1) 110,121,132

() 11,22,33 |

() 121,132, 143

(4) 132,143,154

[36)

114. Fifteen years from now Ravi's age will

be four times his present age. What is

Ravi's present age ?
(1) 15 Yrs.

(2) 5 Yrs.

A3) 10.Yrs.

(4) 4 Yrs.

115. The sum of three consecutive multiples

of 11 is 363, find these multiples :
(1) 110,121,132
(2) 11,22,33

(3) 121,132,143

(4) 132,143,154

% $& & i SEE/SPACE FOR ROUGH WORK
| | q

Level-1/4101
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[D]
137}
116. 0:41x0.41x 0.41+0.69x 0.69x 0.69 041x0_41x0.41+O.69x0.69x0.23
0.41x0.41—0.41x 0.69+ 0.69x 0,69 16, T 041-0.41x0.69+069x0.
& HE BT is equal t0 :
(1) 0.28 1) 028
@ 11 @ 11
3 11 | 3) 11
i
4) 2.8 | 4) 2.8
| 17. OF fEam 0T & % ik -1 117. Find the quadratic equation whose roots
| 2 2 1
| %Jamwm: are.é.and_i.
(1) 65" +x+2=0 J (1) 6x% +x+2=0
L(2) 622 —x-2=0 , @) 6x2 —x-2=0
(3) 16x* —x+2=0 | () 162 —x+2=0
4) 16x% +x-2=0 7 — @) 16x% +x—2=0
TG % % R SFE/SPACE FOR ROUGH WORK
.
Level-1/4101 ) P.T.O.

"'"'_"

Scanned by CamScanner



[D]

118.

119.

120.

m%@mwmﬁ

fegelt O

aq HAM: 25 e aur 168
S g Reaet &l
M3 @ 4
@) 173 (4) 9 & A
54 Rfto sfe woeT @ T |

Th el :
| fre & Pl g8 @ BT 7
(1) 900 (2) 1000

@) 115% (@) %0

21 T 3R 28 AW T | SEH ST B

(1) 7456 i
(2) 7654 o
_(3) 7546 i

(4) 7746 Y

[38]

’

118. Find the length of a rectangle whose

119.

120.

diagonal and area is 25 cm and 163

cm? respectively :

(1) 31cm (2) 2dcm

(3) 17cm 4 9cm

How much distance covered by a

scooter in 1 minute at the speed of 54
km/hr ?

(1) 900 m
3) 115m

(2) 1000m

(4) 90m

The height and the slant height of a
cone are 21 cm and 28 cm respectively,
the volume of the cone will be :

(1) 7456cm’

(2) 7654cm> -

(3) 7546cm’

(4) 7746cm’

% % 3 RU SE/SPACE FOR ROUGH WORK
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Direction : Answer the following questions by selecting the most appropriate option.

[39)

[D]

AFT-V/PART -V
TAT ST / ENVIRONMENTAL STUDIES

e : Frife e 3 e 8% @ e e o oy g

121.

122,

123.

1 &/ Red e sem ¥ ot gy
% B ST ST § 7

(1) g

@ Fotodio

(3) FHT
(4) Todiodio

e o)) @1 S9N ﬁrﬂ GRECEIE K
w ¥ ? |

(1) g

(2) wrer

(3) wghfmm

@) fuforr

G W Y e B
(1) +yg

(2) gEET

() AF
4) Ym

Level-1/4101

123.

122.

121. Which of the following is known, as

. energy currency in the cellular process ?
(1) Mitochondria
b ] )
(2) D.AP.
(3) Alveoli

(4) ATP.

Which metal is used for making solar

cell ?

(1) Gold

(2) Iron
»(3) Aluminium

(4) Silicon

'Golden fibre' refers to :
.{1) Cotton

(2) Jute

3) Nylon

(4) Silk

P.T.O.
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(D] [40] _ . | '5
124. g 9l & e M (3 124. Chemical name of washing soda is : %:
(1) afem FAES (1‘) Sodium chloride E
(2) Qfeaw FEF FEAC (2) Sodium hydrogen carbonate -
(3) Bifezw FHENT (3) Sodium carbonate g
(4) Ofeaw sEgEIRS ~+(4) Sodium hydroxide
125. FR & a9 W F-4l SE g aTew 125. Which non-metal exist in liquid state at fL
T el S B 7 room temperature ? i
(1) == @) N (1) Merewry  (2) Iodine ;
(3) S (4) T - (3) Bromine (4) Chlorine
126. sharet & ARe & fog ¥ P 126. Whick gas is passed in the water to kill |
¥ yEifed B © 7 bacterias ? Sy
(1) e (2). KA (1) Bromine  -(2) Chlorine
@) e (4) e @) lodine (4) Nitrogen
127. 996 K ¥ RBC & Fior & 2 ¢ 127. In adult Human R.B.C. is formed in : k
| (1) 7% & (2) HARermwon .(1) Liver (2) Bone marrow '
3) 79 § @) s § ‘ (3) Kidney  (4) Pancreas
128. R/ wE/ET @) RIS 128. Which industry/industries known as
T D WA TN E P ‘ ~ "Sunrise Industries" ?
(A) e 3§ e | (A) Iron and Steel Industries
(B) ga e (B) Information Technology
(C) T TN (C) Cement Industries
(D) it & ST (D) Cotton Textile Industries _
(1) (A),(B)3R (©) (1) (A), (B)and (C) E
@ OO @) (C)and (D)
() F (B) (3) Only (B)
&) 3 (D) (4) Only (D) i
Level-1/4101 . .
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i e [41) (D]
9. .

% ; | q Eﬁ‘f-‘ﬂT Tt 59 ﬁ:ﬁzﬂ'ﬂ[ Gl 129. Which of the following group contain
biod adable 7
(A) HTE, go7 AR =HeT ?:;YG;:S:A‘%;OWS and Leather
(B) qm, DI aﬁ_{ Eﬁ‘]ﬂ (-B) Grass, WOOd and Glass
(C) it & o, 3% R Hig @ . |s. Cake and Lime juice.
, ] , (C) Fruits-pee’s:
(D) %%, e AR ke (D) Cake, Wood and Plastic
(;) A,Ba?rfa;; ) A BndC ,
(2) A,B,C D 2) A,B,CandD
3) AsIRC (3) AandC
(4) BIRD : » (4) BandD
et A ﬁeﬁﬁ T _ | 130. Match the following :
HieH-1 (TIW) Fiar-11 (ﬁﬁ H'{H"T Column-I Column-II (Water
ﬁﬁ) (State) harvesting method)
r (A) eI Q) t{ﬁ’H (A) Rajasthan (i) Eris
(B) FERTE (i) T  (B) Maharashtra (ii) Pyne
(C) B (iii) seE | (C) Kerala (iii) Bandharas
(D) afFeTg (iv) @S .~ (D) TamilNadu (iv) Khadin
(E) s W g™ (E) Bihar (v) Surangams
Fe : Code : )
A B C D E A B C D E
M (v @ @ G @ (M Gv) () v) Gi) @)
@ @ Gv) () G ) @ O Gv) G) @) (v
@ v G » O @ B ORI CHROREORNG
@ @ @ v @ @D @O @ O G i)
131, ity Sei od g 131. Renewable Energy Source is :
(1) W (2) B (1) Petrol @) Coal
(3) &= 4) ElERED i +(3) Forest T4) Natural gas .

Level-
1/4101 P.T.O.
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132. WWW*WW@
BT & 7
(1) s«
(2)
@ a
(4) ZAHM

T fwerd S & R fRd pIE]
¥E: :

(1) CO,>CFC>CH;>NO,

(2) CO,>CH;>CFC>NO;

(3) CH4> CFC>CO;>NO,

(4) CEC> CH;>CO,>NO,

133.

fga ofer fda A S @
(1) 227 ) 2238
(3) 237 =T (4) 23 7N

134.

(A) T HIfE & DNA ¥ Hewayet
gRec e 21

®) T A TREN & Hew § ofad
2

(C) oTE® et ¥ oRed T

135.

(1) &34 (A)

2) ()3T (B)

3) (A)¥ (C)
@) (A), (B) X (C)

Level-1/4101

[42]

132.

133.

134.

135.

Rocket works on the principle of

conservation of :
(1) Force

.(2) Momentum
(3) Velocity
(4) Mass

Relative contribution of various green
house gases to total global warming in
ascending order 1s :

(1) CO,>CFC > CHs>NO,

(2) CO2>CH;> CFC>NO;

(3) CH;> CFC>CO,>NO,

(4) CFC>CHs>CO2>NO,

World Water Day is celebrated on :
(1) 22March  (2) 22 April
(3) 23 November (4) 23 March

New species may be formed if :

(A) DNA undergoes significant change
in germrcell.

(B) Chromosomes numi)er change in

the gamete.

C) There r\is . )
materials.

-(1) Only (A)

*(2) (A) and (B)

(3) (A)and (C)

4) (A), (B) and (C)
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§ 135) @it o o s o o ¥ |

139.

137.

) P
@ g
@) dm
@) i

TR Ruger # do9 & R B aw
H IYGIT B & 7

(1) T

@) =t

(3) wgefemm

(4) 9ifezm

78l faEeT & a9 H

(1) fasa & wi el q TR F 7 A

() 9 @ H FE A P
2l |

() R & @ iR meErd 9@
% g AEn T B

4) R § v 9 9B B 2

}

B o FET wm § apatE A
g7

(1) SpI9T FIAToT

(2) ardeget

() @ A

(4) SHaem o= 1 ST

Level-1/4101

[43)

136.

137.

138.

139.

[D]
Shifting agriculture in Brazil is known as :
1) Milpa
*(2) Jhuming
(3) Roca -
(4) Ladang
Which element is used in nucleq

reactor for fuel ?
.(1) Uranium
(2) Cadmium
(3) Lutetium
(4) Sodium

Choose the correct option :

(1) In the lakes and rivers of the world
total amount of water remain constant.

.(2) Underground
constant.

water remain

(3) In the seas and oceans of the world
total amount of water remain constant.

(4) The total amount of world water

remain constant,

Which step is nor involved in the
carbon cycle ?

¢} Photosynthesis

(2) Transpiration

(3) Respiration

~(4) Burning of fossil fue]

P.T.O.

e —
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[D]

140.

141.

142.

143.

[44)

39 & @ SIFHE @ ¢
(1) &=

(2) TP

(3) M

(4) I

& Sl a7 99 qRe | BRI s
S B T
(1) W&

2) @

() ggme

4) s

HIFT-TT HIAENT 9 H1 DNA TE&ar § ?

(1) sEErEm

© (2) R

(3) T

@ @ 27 3)

A F JEd 9TF ©
(1) S
@ &
(3) A%
(4) T

Level-1/4101

140.

141.

142.

143.

The SI unit of power of lens is :
(1) Hertz
(2) Lumen

(3) Ohm

.(4) Dioptre

Micro-organism act upon the dead plant

to produce :

.(1) Mushroom

(2) Sand

, (3) Humus

(49 Wood

\

Which cell organelles have its own

DNA ?

(1) Lysosomes

(2) Mitochondria

(3) Plastids

.(4) Both (2) and (3)

Main component of Biogas is -
(1) Propane

(2) Butane

.(3) Methane

(4) Ethane
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144. [ﬁqﬁ:{f@aﬁwm

-1 -1
(A) CFC () &Ra 18 T
®) CO, (i) Al ST
©N, (i) TR T (R
)
(D) CO (iv) S &

A B C D
() @) @) 3i) (@)
@) (i) @ @) @)
@) Gi) @v) G a0
@) @Gv) @) @) (i)

2

145. WW%
(1) @Eas
(2) T

(3) ot
(4) o

146. g g & =z a’ﬁﬁ:g —
27 |
(1) =@ )
) & P
3) Ry
(4) @gsm

Level-1/4101

AR

oF

[45)

P ORURD

[D]

144. Match the following :

Column-I Column-1I

(A) CFC (1) Green House Effect

(B) CO2 (i) Most available gas

(C) N2 (iii) Poisonous gas
(Toxic gas)

(D) CO (iv) Ozone depletion

Codg :

A
M @ @) @i Gv)
@) Gii) @ @) @)
@) G Gv) @ O
(i) (D)

B C D

145. Amarbel (Cuscuta) is an example -of :
4 (1) Autotroph

-(2) Parasite

(3) Saprotroph

“%) Host

146.

Which

vermicompoSt 9

organism produces

1) Flatworm
(2) HoOkWOn-n
(3) Pinworm

(4) Earthwo —
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: i it - o tare to be given by

6. Wl @ W, Stk A ¥ PiRg @l @1 o dfm g Answers to questions in answer g}gikaba]l ol pef a8

wrge 49 3 yoferr o ¥, Srar fy A femr T K darkening complete circle using

@ P ® @ shown below : o PY @ @
A9 ERT fREn T SR e A WO, AR SR I _ ifitis marked, as given below :
The answer will be treated wrong,

M A A R R

e Wm% ST @ B R S 8 a‘r'm ST AT If you fill more than one circle it will be treated as a wrong

hli* ‘ , answer. )

7. % @ TE-gRamT A w9 s & fre @ T @ T W # | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

8. W STR Bhae OMR ITR T5& W & 3ifhd DY | 0 IR e sifed $Y | 9 950 &g 490 YoIH (w‘,arfaq\_-s)aﬂ
WA fAf%E 21 (The answers are to be recorded on the OMR Answer Sheet.only. Mark your responses carefully. Whitener
{white fluid) is not allowed for changing answers.)

9. 5% ¥ & fore R MU AR el # & SRa fiwey @ fg OMR SR w56 | dad TP g B B GI RE Bial S
@rEe 49 § W | TF IR ST Afbd A D qE S T8 T8} O WhaT # | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The angwer once marked is not allowed to be changed.)

10. ¥t GRRe B % 39 SR TE P Aer 7 WY 7@ 99 R B 9 e | o | st o sreie. SR U e
i fiRa e @ offie s T ford | (The candidates should ensure that the Answer Sheet is not folded. Do not make

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.) '

11. 9—gRAPT Td SR UNF BT SAMgde WA ¥, i fed f iRRefr § (rE-gRaer @ stk v @ waie § Rrewar
o Rty B Bisaw) T8 v qRa®T e Syerer 7€l #ars Mg | (Handle the Question Booklet and Answer Sheet with

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided,) ’

12. yE-GRa%T /SR u=d H RY Y w1 31 argefl wE P ¥ TR AE F R (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. gl o1 we €ie/ wE A WA un R g g @ SRR RN wER B area—wm, 5T 1 swafofea wrra &
of¥fdl, UOR, AR B, IR Sy g7 fed, 3 TOR @ WA B A W A Sgam T B AR T R
(Candidates are not allowed to carry any textua) material, printed or written, bits of papers, pager, mobi
device or any other material except the Admit Card and 1dentity Card inside the examination hall/ room.)

14, TGP ERI Y8 9H R Y% 39l amer iy o€ Q1 o) 3R UEUM U3 RE | (Each ca
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

15. &% SENeTd I THeEE B R erEfy & ey B apgefi I I A BRE| (No candidate, without g

, ‘ Pecial permissi
the Superintendent or Invigilator, should leaye his/her seat.) Y i1ssion of

16. FTRE THAEF B AU IR TG Ry fmy ‘v awaqer A6 W AR EEIER BT R arrell qien e o oy
Mawﬁﬁwﬂmmmmm%mﬁmﬁwmmﬁswgmmﬁmﬁggﬁluﬁ:
agﬁamaﬂmwm'wmmommmﬁﬁuﬁ?ﬁmﬂwﬁaﬁﬁh’rmmaqa}q._;[a RN
qrar A a g B a8 T/T FH | (The candidates should not IcaYc the Examinatioy Hall without%}:kl w G
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where 5 candidate hag an@mg over
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with a6 an unf Notsigned the
Al candidates have to affix left hand thump jmpression on the OMR answer sheet at the place Speciﬂedalr Mmeans case.

. be properly inked Le. they should not pe either over inked or dried in nature,) which should

17. g@mﬁﬁw/ﬁ?ﬁﬂm TREEE P Iy affa &) (Use of Electronic/Manual Calculator js Prohibiteq,)

gfet # AraRer @ o1, el g o/ Ren-GEw @ @S & W Prpd o ~

18, oy efct A A if 4 g s/ -0 T T Ry .

?Fjﬁﬁ arEl @ o Amet @ Baa ad & Pl @ fafr @ 313 R8I (The ca“didategajrm e [ |
Guidelines/Procedure given In the Informayion uletin, all Rules and Regulations of the Board wiy, re € governed by

i . gard ¢ i X
the Examination Hall. All cases of unfajp Means will be dealt with as per Rules and Regulations of the Board.) © their conduct in

R BT A geA-yftad! MY I gy %1 i AT ST w1 @ | (No part of the Question Bogk)e and Ap
19 pe detached under any circumstances.) Swer Sheet shall
@, ' < —qdidEs B R Wiy o
e B W, Sl W/ gy g qf otk o e %)
20. ‘Tﬂﬂl o 9 gFa &1 (On completion of ﬂ?:; test, the candidate must hand over the Answe
in the Room/Hall. The candidates are alloweg to tike away this Question Booklet with them.,)
in

le phong,r electronic

ndidate must show on

STeft

r Sheet tOGT‘F\’[ N S

the Invigilator
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